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1  The caste assigned to a child born of a anuloma marriage :
(A) Same as that of the mother
(B} Same as that of the father
(C) different than that of the two parents
(D) even lower than the caste of mother
(E)} Question not attempted
e R & T daw a & T
(A) o & Tu=
(B) Trar & @9
(C) =i #Ar-far o =
(D) HA@T B TG A AR
(B} &gaRa wed

2 Which of the following statement is correct regarding.the economy of Harappan
Civilisation?
{A) During the Harappan Civilisation Economic life of the people was very poor.
{B) During Harappan Civilisation only internal frade was carried out.
(C) Pictures of ships, boats have also been found on seals that throw light on Harappan
contacts in far-off places.
(D) Iran was the trading outpost of Harappans with other civilastions.
(E) Question not attempted
ST AT B Adegawn % ged o Freafaiad ¥ ¥ B9 91 Hud g6 7
(A) T39O AT H S AR B A AT g TS 1
(B) F3W1 |WIAT % SF hdd SIdiieh AT v 47l
(C) o WX weml, At P fa o fo ¥ o gax Wl o s Hushl UX WebleT STt &
(D) T o7 {3 & T ESHENTdl %l AYME il ol
(E) &gdRd ued

3 While Purushasukta of the Rig Veda mentions the origin of the Chatur-varna system for
the first time, one another Vedic text repeats the same theory. Which was that text?
{A) Atharva Veda (B} Satapatha Brahmana
(C) Brihadaranyaka Upanishad (D) Chandogya Upanishad
(E)  Question not attempted
Wals FET % TEUYE W UBH! ATt IgI—av HeRdT Bl S W I’ 8, Uh o e e IE
fogia =7 TETan ¥1 9% e B ar e

(A) sudes (B) wawY TR
(C) gearvas Ui (D) wigg Jufwg
(E) arg=ia weA

HS-9 2 P.T.O.



4  The Six Great Cities mentioned in the early Buddhist texts include :

i.  Pataliputra ii.  Champa

iii.  Vaisali iv. Rajagriha

v.  Varanasi vi. Kausambi
vii, Sravasti viii. Indraprastha

ix. Kusinagara
yrifues g T A Sffed wE wew e E
i urefag ii. g

il Semar iv. T

V. aTouRy Vi, @igrE

vii, e viil. a9

ix. PR

Choose the answer from the codes below :

(A) 1,11, 1v, v, vii, IX (B} ii, 11, v, vi, vil, viil
(C) i, iil, iv, vi, vii, Ix (D) ii, iv, v, vi, vil, ix

(E) Question not attempted / SIANT W7

5  The earliest epigraphic reference to "Visti” of forced labour is found in the :
(A) Nanaghat inscription of Naganika (B} Hathigumpha inscription of Kharavela
(C) Junagarh inscription of Ashoka (D) Junagarh inscription of Rudradaman I
(E} Question not attempted
A (forced) M & To&l’ &1 UraHaw e g3y ¥ quEn S
(A) AWt &1 AR Rrawa (B) @Ew & & Aeera
(C) 19T &1 e e (D) TFEHA 99 B SATTE Ramd
(E) orgaia 9s

6  When were the silkworms intsoduced into the Byzantine empire from China, adversely
affecting India’s already deeclining foreign trade?
Y9 &b BISi Bl A A _AliliveD Q=g § e |™l T4, [5ed Wiid & UEd 9 8 ged faesh s
X UiTBE THIE TSI ¢
(A) AD 451 (B) AD 551
(C) AD 651 (D) AD 351
(E) Question not attempted / AT W

7 Harshavardhana was the author of :

i.  Harshacharita ii.  Ratnavali
iii. ~Nagananda iv. Priyadarsika
TNaeS fhad wEs 97

i. TG ii. el

iii, g iv. Praefie
Select the answer from the codes given below :

T few U HEE ¥ SO #w 99T &

(A) 1, i1, iil (B) ii, iii, iv
(C) i, ii, iv (D) 1, iii. v

(E} Question not attempted / FFANT U
HS-9 3 P.T.O.



8  Who among the following Delhi Sultans were born to Hindu mothers?

i, Alahuddin Khalji 1. Nasiruddin Khusrau
iii.  Balban 1iv.  GivasuddinTughlaq
v.  Firoz Tughluq vi. Sikander Lodi
Choose the correct answer from the options given below :

(A) All of them (B) ii & iv only

(C)y i, iv, v & vi (D) i, ii, v & vi

(E} Question not attempted
Prerffae Rl geaml & § B fog Al @ 4w gU 47

i oEeEH e ii. WEHeEN gad
iii. o@E iv.  TUYEH s
v. TR e vi, et @@y
I fau o faewedt § 9 w6 39T g

(A) T &+ (B) Hae ii8me.iv
(C) i, iv. v T vi (D) i, ii, v &R vi

(E) agaid ued

9 Allauddin did :

i.  Reduce the prices of various essential commodities and established separate markets
for those goods.

ii.  Reduce land revenue demand of the state by eliminating all middle men.
ili. Cancelled several types of land grants such as Inams, Waqfs, ete.
iv. Reduce the state’s share of the war booty to 20% from 80%
Prohibit matrimonial alliances among nobles without his prior permission.
aﬁnaﬁﬁ v fpam:
i, fafu= srrasus axgenl B Sval o 9 fea ot o sxgatl & fag s s wnfta fean
i, F fedifel & g9 wTh T B U qi B wF
iii. % WBIT &F M TR WE IAM, 9@ SN @ TE B faar|
iv.. Y& W2 H T &l Rw 80% @ ey 20% fear
v.  oud qd IAfy & fomr Eal & A daifes Teds X U |
Choose the correct answer from the codes given below :
(A) i, il & iii (B) i, iii & iv
(C) i,ii&v (D) i,iv&yv
(E) Question not attempted / SN 997

HS-9 4 P.T.O.
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Who among the following were saints of the Nirghuna School?

i.  Dadu Dayal ii. Nanak

iii. Raidas iv. Kabir

v.  Sundaradas vi. Dharanidas
Fretfea & @ B P e & g 47

1. T g . S

iii. E™ iv. @ER

v. HIEM vi. eRuiEE
Select the correct answer from the codes given below :

T few U HEE ¥ wE IAC B g9 B

(A) i, i1, il & iv (B) ii, i, iv & v
(C) i ii, iv, v & Vi (D) All of them / & &+

(E} Question not attempted / FFANT U

Match List I and List II and choose the correct answer from the options given below the
lists :

List I List 1T
1. Itimad-ud-daula’s tomb P. Influence of Buddhist Vihara in its
construction
2. Humayun’s tomb Q. First use of white marble by Mughals
3.  Akbar’s tomb R. Forerunner of Taj Mahal
4.  Tomb of Aurangzeb S.  Aurangabad

A 1S gl I A gifad ARty e gl B D3 fu i Breedl @ 48 st g
T 1 T 11

. 3RAR-—3e-]dl & 9Had P & W ¥ 95 R &1 1a

2. A & "HEU Q. FTel &R WhE ETHIHT @ HAYgH WA
3. H&BIL ®T "B R. dHsd @1 30gd

4. ST B AhS S.  SimER

Codes / fa®ey -

(A) 1-Q, 2-R, 3-8, 4-P (B) 1-R, 2-Q, 3-S. 4-P

(C) 1-Q, 2-R, 3-P, 4-S (D) 1-R, 2-Q, 3-P, 4-S

(E} Question not attempted / FFANT U

8] P.T.O.
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13

The teachings ot Kabir and Nanak were almost similar except in two respects. What are
those two?
i.  Hindu-Muslim unity.

ii.  Great stress on the purity of character and conduct as the first condition to reach
God.

iii. Condemnation of caste and creed distinctions.

iv. Need for guru guidance.

HAI 3T T% &l frard ) el @ siedt aH gue df L d S R 27
i. feg—qiem uwmarl

ii. WA 9% UgE @ USAl S % B W AR ST e @I gl i 9gd wik)
i, oid $fT du 9 @ fHa

iv. % AMESE #T SIS §

Select the correct answer from the options given below. :

A fan g faemedl & W W ITT W AAT B

(A) 1 &ii (B) i1 &v

(C) 1 &iii (DY a1 & v

(E) Question not attempted / 3T 97

Alberuni in his Kitab-ul Hind had particularly appreciated the Indians for a very high
degree of proficiency in :

(A) Exchanging and communicating their knowledge.

(B) Raising a powerful business class.

(C) Construction of tanks and reservoirs at holy places.

(D) Miniature paintings.

(E)} Question not attempted

FATEAT 7 T BAE-SA—feg § A9 w9 ¥ Wil # YT @) 9gd o 60 %
e |E @1 dn

(A) & T B ARH-YEGN SR =GR BT

(B) TUHm 9IRSl STIERN T B ST BT

(C) ufas wret oX armst S Sanerat &1 i

(D) g feri

(C) S gaid ued

HS-9 6 P.T.O.



14 Which code gives the correct pairing of the following lists?

15
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1.

2
3
4.
&

o=

List I

Establishment of Imperial and Provincial Legislative
Councils

Introduction of Competitive examination, the ICS
Appointment of a Secretary of State for India
Introduction of Communal electorates

T wis e qiaal S @& ey gar 27

w1

e 3T widr faum afwst @ s
wherdnlt wdier @ aftea, srsdiuy

T % fon wew wfia @ fafe
RIS Hatas Hed B 9iad

(,odes / BIed :

(A)
(C)
(E)

1-¢, 2-a, 3-b, 4-d
1-b, 2-d, 3-a. 4-c
Question not attempted / STTART T¢T

it

S8

'(7

e o oo

(B) 1-b, 2-4, 3%, 4-d
(D) 1-a, 2-c, 3-b, 4-d

List 11
Act of 1853

Act of 1858
Act of 1861
Act of 1909

w0 11
1853 &1 sifufram

1858 =1 artafray
1861 =1 artafras
1909 =1 arratay

Match the following books with their authers and select the answer from the options
given below.

List I

List 11

1. History of Indian Munity P. GB. Mallison
2. A History of the Sepoy War in India Q. Sir .LW. Kaye
3. Indian Munity R. S.N. Sen
4.  The Sepoy Revolt, Its' Causes and its Consequences S.  H. Mead
5. Eighteen Fitty Seven T. T.R. Holmes
e &Il Bl Sk wEh & W gAtad ity X T U U fqeer § 39 g
el | T 11
1. e g @ shoe P.  SiEn. e
2. 9@ 9 fqudl g3 @ she™ Q. W T =Y, PY
3. I SR R. uwqud. &9
4. TaurEl famiE, swh H S SEe wiiem S. T We
5. STONE HEd T. e &=
Codes / ®i=H :
(A) P-5, Q-2. R-1, S-4, T-3 (By P-2, Q-1, R-4, S-3. T-5
(C) P-1, Q-4, R-3, S-5, T-2 (D) P-4, Q-3, R-5, S-2, T-1
(E) Question not attempted / AN T84
7 P.T.O.



16 Which codes gives the correct pairing of the following lists?

List 1

Leaders

Buddho Jagat

Alluri Sitarama Raju
Chakra Bisayi
Sambhudan

N

aﬁnmqgﬁw%f@a@u’rwuﬁgwm%?

w1
EEl

1. &

PR (RIS ISR B |

3. o fagd

4. WEW

Codes / ®i=H :

(A) A-2, B-4, C-1, D3

(C) A-4, B-2, C-1, D3

(E) Question not attempted / AT 79T

6 o w

d.

o6 oo

List 11

Tribal Revolts

Khond Revolt of 1846-48
Kol Revolt of 1831-32
Kacha Naga Revolt of 1882
Koya Revolt of 1922-24

w11
AR FEE

1846-48 %1 @iz fgre
1831-32 %1 &I {488
1882 @1 &=r 97T fagE
1922-24 w1 @ fage

(B) A<l.B-4, C-3. D-2
(D) A-3{B-1, C-2. D-4

17  Arrange the following in the historical sequence :
Escape of Subhash Chandra Bose from India.

1

2. Celebration of the "Deliverance Day’
3.  Resignation of the Congress Ministers.
4. Lahore Resolution of the League demanding separate state of Muslims.
5.

Quit India Resolution of the Congress.

Frefafes & Tfqeia® &9 § @arad &L
IR & AN 9% 99 &l ueEE |

qieT I FT ISR REd w1 A

by the Muslim League.

THAIM! & T T BN A HE T AT BT ARR G |

1
2.
3. iU "EEl @ S|
4
5

HIUY B U B Hhey |

Choose the answer from the options below :

9 frq T Rt & TE T

(A) 3,4.2,1&5

(Cy 3.2,4,1&5

(E) Question not attempted / aNa U89

HS-9 8

B) 3,1.2,4&5
D) 3,4.1,2&5

P.T.O.
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Who said “The Congress movement was neither inspired by the people, nor devised or
planned by them™?

(A) Lala Lajpat Rai {B) Sir Syed Ahmad Khan

(C) Lord Curzon (D) Lord Dufterin

(E} Question not attempted

fopa wEr a1, “HIUT SMR@H 7 AT AF ¥ UG o1, 7 39% T 99 a1 g e T
ar?’

(A) T o9 T (B) ¥Y 52 ote"E @M
(C) wE &oi (D) e WA
(E) oT=fa wsd

The States Reorganization Commission, 1953 was formed under the Chairmanship and
the membership of :

{A) Chairman : Fazal Ali; Members : H.N. Kunzru, K.M. Panikkar

(B} Chairman : Jawaharlal Nehru; Members : Vallabhbhai Patel, Pattabhi Sitaramayya
(C) Chairman : S.K. Dhar; Members : J.N. Lal, Panna Lal

(D) Chairman : Dr. B.R. Ambedkar; Members : KM, Munshi, B.N. Rau

(E} Question not attempted

T T SmanT, 1953 & ST SR, T & qEd ST feRar TET AT

(A) HTF : G AN, FIE o TAGA. HIIE, 6.0, TR

(B) 1A% : WAl W68 9ed : deHHTS Ued, YW e

(C) orme : TH.%. 91; §E&  9NEA., A6, T

(D) sreger « Sf. AR, ANSHG S - H.04 g, A 1"

(E) oaia ueq

Assertion (A) : Dayanand-Saraswati was the first to use the word *Swaraj’.
Reason (R) : He was the first to demand complete independence for India.
(A) Both Assertion ‘A’ and Reason ‘R’ are correct and ‘R’ justifies or explains ‘A’.
(B} Both "A’ and "R’ are correct, but "R’ does not justify or explain ‘A’.

(C) A’ is correct but ‘R’ is wrong.

(D) ‘A’ is wrong but ‘R’ is correct.

(E} Question not attempted

BT UL T 7 99 UEd WIS 9 H WA fan o)

BT : IF ARG & 0 QU W o A B I gsd @t o)

(A) HUT A’ ST B R’ IEE WE E i R CA & WEN ST & AT GHHA ¥
(B) ‘A &t ‘R’ 34 9&l ¥, #fet ‘R**A #1 offaer @ amem & w3ar 1

(C) ‘A @er § & ‘R’ Td 21

(D) ‘A Tad ¥ wfeT R )

(E) or=fE wsd

9 P.T.O.
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Assertion (A) : Excavations of the "UR’ city revels the complete picture of the
Mesopotamian city states.

Reason (R) : It was mainly divided into three divisions: the sacred area, the walled city,
the outer town.

{A) Both Assertion *A’ and Reason ‘R’ are correct and ‘R’ justifies or explains ‘A’
(B} Both ‘A’ and ‘R’ are correct, but ‘R does not justify or explain “A’.

(C) ‘A’ is correct but ‘R’ is wrong.

(D) *A’1s wrong but ‘R’ is correct.

(E) Question not attempted

A (A) @ GATT ¢ &) GaTs HHIURIHAT & 918l Tl &l il JEdR &1 gal &l 8|
F001 (R) : 7% &9 &9 9 O 9T ° fgwiiaa ov ufes &9, 9 Sl e e, I8l 98
(A) ®UF ‘A ST weor R’ 2 @81 ¥ et R’ ‘AT @i HET Sgan § a1 gHsE 2

(B) ‘A’ 3R ‘R’ NI @El &, @it ‘R° “A” 1 aftffeea a1 =amean i &iar g

(C) A W ¥ AfrT R’ T 3

(D) ‘A’ T & WfhT R ®E )

(B} &gaRa wed

Match the following Greek Gods with their duties :

1. Zeus - a. God of the Sea

2. Poseidon - b, God of wine

3.  Apollo - c.._God of the sky

4,  Dionysus d.”  Sun God.
ﬁﬁrﬁiﬁgﬁméamaﬁaﬁmaﬁiﬁr%ﬁmagﬁﬁmﬁﬁm

1. ™ a. WIF F I

2. GERE - b. & & &

3. aTamEr - c.  SIWBIST & IIT

4, =R i 4. %

Choose the answerdrom the codes below :

A fiu U w4 e g

(A) 1-c¢,2-a3-d 4-b By 1-a,2-b,3-¢.4-4d
(Cy 1-b.2—-¢,3—-1a.4-d D) 1-¢,2-b,3-d,4—a

(E) Question not attempted / AT W

Which Italian city-state was ruled by the powerful Medici family during the Renaissance
period?

{A) Rome (B} B. Milan

{(C) Naples (D) Florence

(E} Question not attempted
TSRO I &6 A HH FTa STE—g T SfeRenel! HiEHl uftame &1 o v ?

(A) T (B) # fire
(C) -ued (D) "
(E) arg=ia weA
10 P.T.O.
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In 15" to 19t century which imperial power controlled most of the Caribbean?
{A) England (B} Spain

(C) France (D) Germany

(E} Question not attempted

15dF & 1997 qrarsar o fom ammaarr st o sidemm & sifentst wr ot fefa fean?

(A) g (B) &
(C) =@ (D) S (E) oraftd wed

What was Lorcha Arrow?

{A) Famous Harbour in China

(B) Treaty between China and England
(C) Chinese owned Hong Kong registered ship
(D) Russian Ship

(E} Question not attempted

W Tx (Lorcha Arrow) @@m ar?

(A) 91 ® yiwg TEy

(B) 91 iR s & ¥ dfy

(C) I I Il &I Talipd Sier
(D) w4 S8

(E) =i us7

Who gave the slogan “LET A HUNDRED FLOWERS BLOSSOM” and “LET A
HUNDRED SCHOOLS OF THOUGHT.CONTEND”?

(A) Prof. Ming {B) MinChuan

(C) Dr. Yenan {D) Mao Tse—Tung

(E) Question not attempted

“We U LT wEd AR’ 3T (YR U €33 whed ol Ui iRe @ A fee famn an?

(A) . B (B) frrergerm

(C) =1 I = (D) wmafr ®-gm (E) orat@ usd
Who participated as Japanese delegate in Paris Peace Conference of 1919?

(A) Akihito (B) Sikoni Matshida

(C) Matsui Keisheiro (D) Hirohito

(E) Question not attempted
1919 & 9f@ srifq T9ee & S wfafafy & &0 # fea A forar an?

(A)  arfefed (B) fhaiHr Afeerar

(C) TTgs HIe (D) fexifear (B) oot wea
Who among the following is considered to be the founder of the mahajanapada of Magadha?
(A) Brahmadatta (B) Palaka

{C) Jarasandha {D) Mahasena

(E) Question not attempted

frfeRad § € fofd 7779 % HeTIg 1 HeTad HI Wi § ¢

(A) wEEd (B) U@

(C) <oy (D) #ewAT (B) aara usd

11 P.T.O.
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Which one of the tollowing events of Buddha's life did not take place on a full moon

day?
(A) Birth (B} Death
(C) Enlightenment (D) Renunciation

(E} Question not attempted
g5 & WA H Frefangd § ¥ -9 g g & T w9l ?

(A) w9 B) 73

(C) omHeE (D) @ (E) araia 97
The concept of Eight-fold path forms the theme of :

{A) Dipavamsa {B) Divyavadana

(C) Mahaparinirvan Sutta (D) Dharma Chakra Pravartana Sutta

(E} Question not attempted
TSI AFT & ATURON 58@®T foug (theme) TR 87

(A) o (B) feegmasm

(C) wemftFEmr ga (D) v =% W9 gd

(E) o gana wed

Which one of the following was NOT a part of early Jaina literature?
{A) Therigatha {B) Acarangsutra

(C) Sutrakritanga (D)+ Brihatkapasutra

(E} Question not attempted
Frfatad § 9 &9 °1 UKie S 9. ®, I T8 a7

(A) &l (B) smETCTEA

(Cy gpam (D) FEHILA

(E) orgaia 9s

Shwetambar Agama was finally edited at the Jain council of :
{A) Pava (B) Patliputra

(C) Vaishali (D) Vallabhi

(E} Question not attempted

I S bl S S aftug # @ufeq feran @ am:

(A) urar (B) drefergs

(C) el (D) aeHl (E) orgafa 9

Which major rock edict of Ashoka clearly stressed the importance of efficient organization
of administration?

(A) First (B) Fourth

(C) Sixth (D) Eighth

(E} Question not attempted

e & 69 T WA « W &9 ¥ YIET & HIA WIeT & Ted U WY fZa?

(A) wEd (B) A
(C) ws (D) amed
(E) =i us7

12 P.T.O.
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Which one of the following books ot ancient India has the love story of the son of the
founder of Sunga dynasty?

{A) Swapnavasavadatta {B) Malavikagnimitra

(C) Meghadoota (D) Ratnavali

(E} Question not attempted

UM W @ Freraread o o fhE 09§ g 997 % 6@ & gF B U9 HEE § 7

(A) wIeEEET (B) wAta@mIA™S
(C) wergd (D) T

(E) or=fE e

The silver coins issued by the Guptas were called :

{A) Rupaka {B) Karshapana
(C) Dinara (D) Pana

(E} Question not attempted
T ZRT SR ST % e weed 9

(A) ®T% (B)

(C) fema (D) g

(E) o gana wed

Who among the following rulers brought about the fall of Sayyid brothers?
{A) Rafi-ud-daula {B). Mgohammad Shah

(C) Jahandar Shah (DY Farrukhsiyar

(E} Question not attempted
freiafaa & & 69 oma® 3 e g9 @ uad s

(A) THI-3T-ErT (B) Hiews 5%

(C) WERR 9TE (D) W@t

(E) omgaia wsa

The revenue system among the following is also known as the bandobast system :
(A) Zabti (B) Batai

(C) Nasaq (D) Kankut

(E} Question not attempted
frretafaa & o 69 o yoiel! Y dEia yoner & w9 H off W S & ¢

(A) T (B) =er§

(C) Tu=% (D) =%e

(E) orafe usA

Where did the so called *Black Hole Tragedy’ take place?
{A) Murshidabad (B) Dacca

(C) Monghyr (D) Calcutta

(E} Question not attempted
qUHTT ‘A B S Fat aed g A7

(A) TfimEr (B) @@
(C) g™ (Monghyr) (D) waEn
(E) arg=ia weA

HS-9 13 P.T.O.
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Who founded the Amrit Bazar Patrika?

{A) Sisir Kumar Ghosh (B} Girish Chandra Ghosh
(C) Harish Chandra Mukherji (D) S. N. Banerji

(E} Question not attempted

Y ST qieT @t ' fhae @ o ?

(A) TR R 9 (B) g == 9w

(C) =ha1 == qEl (D) TE.OA. S (E) orgafa 9
Which of the following act introduced a ‘Separate Electorate for Muslims’?

{A) Indian Council Act of 1892 (B} Indian Councils Act of 1909

(C) Government of India Act 1919 (D) Government of India Act 1935
(E} Question not attempted

frtafaa o 4 feg afufm 4 gaeaml & Mo gas Fafas de@ @ gosna &7

(A) W uRwg afafrem 1892 (B) wdg uftwg arfar@d 1909
(C) ¥ T aaag 1919 (D) T @@ atatEm 1935
(E) =i a7

Industrial Revolution began in England with the invention of :

(A) Steam Engine (B} Telephone

{C) Railways (D) Telescope

(E} Question not attempted
Fivs ¥ o wifa B greena feas enfassr ¥ 557

(A) WM o1 (B) <d®H

(C) @ (D) <A™ (E) orat@ usd
During the Tokugawa period, the highest class was :

(A) Farmers (B) Samurai

{C} Land Lords {D) Merchants

(E} Question not attempted

digmen w ¥ ware O At

(A) fram (B) ¥R

(C) e (D) =T (E) orat@ usd

Which of the following were the earliest precursors of Harappan seals?
(A) Terracotta seals found at Mehargarh

(B) Stone seals found at Amri

(C) Clay tablets found at Kalibangan

(D) Copper tablets found at Kot Diji

(E) ~Question not attempted

Prfoiad & @ BH-9 o 9edl % wad G qdadt 47
(A) #ewr # el TumRT @ gel

(By omdt o foell qee @ g

(C) e o fo@r fedt & e

(D) i <o o PR ai s it

(E} oraiid ued

14 P.T.O.



44 Match List I with List IT and select the answer from the codes given below the lists:

1.

2.

3.

4,

List I
Battle of Samel

Battle ot Bilgram
Battle ot Ghagara

Battle of Khanwa

P.

Q.
R

S.
T.

List II

Deteat ot Afghans under Ibrahim Lodi
by Babur

Defeat of Rajputs under Rana Sanga by
Babur

Defeat of Afghans under Mahmud Lodi
by Babur

Final defeat of Humayun By Sher Shah
Defeat of Rajputs under Maldeo of
Marwasr by Sher Shah

T [ g 11 @ gt Bt ot gi % 99 o g g § st g9

el |
1. w5 d & g8
2. Tqeum @ g
3. 9O B &
4, @A & IS
Codes / ®i=H :
(A) 1-T, 2-S. 3-R. 4-Q
(C) 1R, 2-T, 3-8, 4-Q

T 1

P 9T g SHIEH diel & STElE B @l
X

Q. O ERLAWM G & T Teiydl @ e

R. 919 g\ HeE @ial & SEH FETH! &l 81X

S, 9aE BRI Y & aifom B

T. SRSUE TRT AREM % A= % qed Torgai
&l B

(B) 1-S, 2-R, 3-Q, 4-P

(D) 1-Q. 2-P, 3-T, 4-R

(E) Question not attempted / AR 987

45 The Dockyard at Lothal.is well connected through a channel to the river :

46

HS-9

{A) Narmada (B} Bhima

(C) Bhogava (D) Tapti

(E) Question not attempted

AT H AT T Y U AT & WEW q A= TE W T ZIN 2
(A) =1 (B) #m

(C) ¥r= (D) =i

(E) orgaia usd

The Supa Sastra is a text on the sciences of :

(A) Agriculture

(C) Cooking

(E} Question not attempted
qq e fae= o U@ 18 F
(A) W @

(C) HfT wHem &

(E) arg=ia weA

15

{B)} Horticulture
(D) Metallurgy

(B) =rm@Em™I @
(D) 4rg fasm= @

P.T.O.
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Which one of the four Vedas makes a clear reference to Rishabha and Arishtanemi, the
jaina tirthankaras?

(A) Rig Veda (B) Sama Veda

(C) Yajur Veda (D) Atharva Veda

(E} Question not attempted

AR I H § D 6 AT dE? FOH ot aifieH T @ W 35 &Il § 7

(A) w9T (B) wveE

(C) =g (D) FrardaR

(E) o gana wed

The Magadhan ruler who is said to have shifted the capital from Rajgir to Pataliputra :
{A) Udayin (B} Kakavarin

(C) Chandragupta (D) Bimbisara

(E} Question not attempted

I HY SEe e UeHE el Teiit ¥ uRfagd wEaia e o

(A) wEad (B) wm@patd

(C) =a (D) faftaEm

(E) orgaia gsd

The correct sequence of the following experlments of Muhammad Tughluq :
i.  Enhancement of land revenue to 50 percent in_the Doab area
ii.  Establishment of a separate department of agriculture

1. Introduction to token currency

iv. Transfer of capital from Delhi to Daulatabad

v.  Appointment of a new set of revenue officers

HEWG e & PeTRad YAT @l GEl e R & 7

i Eieme g o - ¥ 5Q wider @ ghs

ii. PN % TH T faHmT AT @A

iii. 2T g1 & U

iv. T @l foeel 4 Sdaee H R

v, e afusmiiEl & s e wie @ Mgl

Select the answer from the options given below :

A Ru T fgeed § 39 W 999 I

(A) v, iiy i, iv and iii (B) iii, ii, v. iv and i
(C) iv, iii, i, ii and v (D) iv. i, v, ii and iii
(E) Question not attempted / SIANT W

Which bhakti saint developed different modes of religious emotionalism such as vatsalya,
dasya, sakhya and madhuriya?

{A) Nanak (B) Kabir

(C) Chaitanya (D) Mira

(E} Question not attempted

fore wie dd 5 o, I, A SR "iyRa o aiffie wigedr & fafa= w0 el feiad
T

(A) TF® (B) ®dAR

(C) wa= (D) A

(E) =i a7

HS-9 16 P.T.O.
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The meaning of the sufi concept known as tark-e-duniya :

(A) The enlightened world {B)} The tolerant world
(C) The renunciation of the world (D) The unity of the being
(E} Question not attempted

JH—T-gfaT & wH H A T A G ST A o ¥ o

(A) wg8 gfwm (B) wfewy gfwa

(C) 3fwr & @m (D) &M B THA (E) orafa wed
Who among the following Rajputs were the first to voluntarily submit to Akbar?
{A) Hadas (B} Sisodias

(C) Rathors (D) Kachchhawahas

(E)} Question not attempted

frefefae Trorgal o @ fhe HEW Usel WSt ¥ ey i ST Wi i ¢

(A) & (B) Ttz

(C) R (D) #HHBaE (E) orgafa 9

Assertion (A) ; During the reign of Shah Jahan, Dara Shikeh was sent on expedition to

Balkha, Badakhshan and Kandhar.

Reason (R) : The expedition sent by Shah Jahan to the Middle-East was a marvellous

SUCCCSS.

{A) Both *Assertion’ (A) and *Reason’ (R) are cerrect and ‘Reason’ (R) is the correct
explanation for Assertion.

(B) Both “Assertion” (A) and ‘Reason’ (RjareCorrect but ‘Reason’ (R) is not the correct
explanation for Assertion..

(C) ‘Assertion’ (A) is correct but.*Reason’ (R} is incorrect.

(D) ‘*Assertion’ (A) 1is incorrect but''Reason’ (R) is correct.

(E} Question not attempted

e (A) @ STEAST & SMAHR & ST, T RibE Pl 9aQl, 9eE 3T Ha & St

T WS T A7

HTEOT (R) : SIESTel 1 Wel-qd § 9ol T S % 61gd dvbear o

(A) ‘e (A) 8T BRer (R) T 81 ¥ afix ‘sreer (R) aifweeas & @@l =ame 1

(B) ‘sifieaT’ (A) oy ‘@ (R) 31 GEl € @i ®ror (R) sifaasT &7 wel aamedn <iEf €1

(C) ‘oi¥ea (A) ®E1 % wifeh & (R) T &1

(D) ‘YT (A) TAd ¥ AT HRO (R) TE ¥

(E) o gaia ued

The Frenchman who visited India six times during the reign of Shah Jahan and Aurangzeb
and wrote his accounts of India in his work ‘Six Voyages :

{A) Tavernier (B) Manucci

(C) Thevenot (D) Bernier

(E)} Question not attempted

I8 HidE fre st ofit offifee & sEsE H§ %8 a Wi @ S T ofi sroe s
g armee’ & wreg &1 faao o

(A) ¥t (B) =g

(C) o= (D) st (E) araia 97

17 P.T.O.
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With reference to the period of colonial rule in India, “Home Charges™ formed an
important part of drain of wealth from India. Which of the following funds constituted
“Home Charges™?

P.  Funds used to support the India Office in London.

Q. Funds used to pay salaries and pensions of British personnel engaged in India.
R. Funds used for waging wars outside India by the British.

Select the correct answer using the codes given below :

{A) P only (B} P and Q only

(C) Q and R only (D) P.Q and R

(E} Question not attempted

qRT ¥ e s (colonial rule) #1 erafy & Hed o, ‘g™ At WA ¥ 99 & i
H UF deayul feed on frafafed § & 6w % 4 3m @ Tiea feear ?

P. @& H WG ®E@d & 99 H & [0 I 6 T %8|

Q. vt ¥ @ fafeer ol & aq i Yo @ grae s & fog guar R s
R. oS 210 wRa & 91X 98 B3+ & oo wgam om)

A U T wEE @ yEm W §E 9wl gy

(A) Had P (B) %aw P 3t Q
(C) % Q AT R (D) P, Q it R
(E) =i a7

With regard to "Delhi Sultanate’ period, which of the following is incorrect?

{A) Muslim society remained divided into ethnic and racial groups.

(B} The intermarriages between Turks, Iranians, Afghans and Indian Muslims were
common.

{(C} The caste restrictions did not close social intercourse between the Muslims and the
upper caste Hindus and the Shudras.

(D) The local machinery of administration remained almost entirely in the hand of the
Hindus.

(E} Question not attempted

ool Heaa’ BId & ey H AEited § § sF-|1 TAd ¢

(A) qiem o ST 3 T gl 3§ @Il

(B) g, sui=, ShuEl $iR TR gEaHEt & 9 sfataar g 91

(C) if Wil < qEE @R SO S % el ST yE b A qwE w9 & §E
T fepm

(D) 9emET & =HE 1l o ¢ 9 | fEget & sty § @

(E) orgaia usd

Adi Shankaracharya established four Mathas. These mathas are situated at :

(A) Badrinath, Dwarka, Puri, Sringeri (B} Sringeri, Dwarka, Badrinath, Prayag
(C) Dwarka, Badrinath, Prayag, Sringeri (D) Puri, Sringeri, Dwarka, Varanasi
(E} Question not attempted

M sioprads 4 A3 & wuAr & 6 T 7o T fem ¥

(A) FqEHE, BR®, 4, S (B) #rfi, SR, TEMATY, TEET
(C) grabl, S8, WoIRT, S (D) g, 58, are, Ao
(E) o gaid ued

18 P.T.O.
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Mughal architecture is a happy blending of :

(A) Turkish and Persian styles (B) Turkish and Afghan styles
(C) Persian and Indian styles (D) Timurid and Indian styles
(E} Question not attempted

T WU bl Rhud gas afso & 7

(A) g st wred Set (B) gl 3l = Qiferat
(C) wREr @R Wi Siferar (D) I o v St

(E) =i a7

Arrange the following Nawabs in chronological sequence.

i.  Alivardi Khan ii.  Nazam - ud — daula
iii. Sarfaraz Khan iv. Siraj — ud - daula
v.  Shuja — ud — din

Choose the answer from the codes given below :

(A) v, 1. 1, i1v and iii (B) w, iii, i, iv and ii
(C) 1, v, iv, iii and ii (D) i, iv, v, 1i and iii
(E) Question not attempted

fr=fefaa TameEt #1 Sremaar afed S|

L oERl @m i, ASH-SIar

i, FETS E@H iv. fHre-3e-de

v, Wr-3E-dH

(A) v, i, i, iv 3R iii (B) v, iil. i, iv T ii

(C) i, v, iv, iii 0T ii (D) i, iv, v, ii 8T iii (E) orgarea wed
Sir Charles Wood. who drafted the education despatch of 1854, was the then :

(A) Secretary of State for'India (B) President of the court of directors

(C) President of the Board of control (D) Prime minister of England

(E)} Question not attempted

T O gs, Msi(1854 & uegehy feeig @1 weer qar far, 59 @94 )
(A) 9@ & fou Toa whka (B) ®IT % STHEE & orme

(C) o= 91E & areme (D) $vs & gud #=r (B) orgaia wed

Warren Hastings experiment of auctioning the right to collect revenue to the highest
bidder i1s almost similar to :

(A) Poligar system of Vijayanagara empire

(B} Igta system of Delhi sultans

(C) Jagir system of the Mughals

(D) ljara system of the Mughals

(E} Question not attempted

T T T ST Bl ST Ul i & SIIHIT Bl SIATHT T d SRETH YT T
% HAM &

(A) TR ™= Bl TR JoTel (B) Tt % goami @ gaRT WOTTE

(C) Tl @t ST e (D) Tl & T Jor

(E) =i a7

19 P.T.O.



62 Which code gives the correct pairing of the following lists?
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List 1
1. Poona Seva Sadan
ii.  Social Service League
iii. Seva Samiti

a.
b.
c.

iv.  Seva Samiti Boy Scouts Association d.

Servants of India Society

aﬂﬂwaﬁ@ﬁw%ﬁgaqﬁm‘raﬁﬂé’raﬁ?ﬁ%m%?

w1

i, UAT §ar "
ii. HEW gEr AR
iii.  dan affa

iv. a1 gl §19 @ecd TEIiIsH
v, Tdew offw IR wEmel

(A)
(C)
(E)

i-c. ii-d, iii-b, iv-e, v-a
i-a, 1i-e, 1ii-d, iv-¢, v-b
Question not attempted / ARG 997

e,

o o T

List 11

HN Kunzru

Shri Ram Bajpai
NM joshi

GK Gokhale

Mrs Ramabai Ranade

A 11

T et

A T AT
TAUH SIS

Stih T
ST THTETS T

(B) i-e, li-c, iii-a, iv-b. v-d
(D) i-b, ii-a, iii-¢, iv-d, v-¢

Match List T with List IT and select_the answer using the codes given below.

List 1

1.  Kunwar Singh

ii. Nana Saheb

ii1.  Bakht Khan

iv.  Maulavi Ahmadullah
Rani Laxmibai

o poe T

List 11

Died Fighting the British at Gwalior
Died in his ancestral home due to injuries
Murdered by Raja of Puwain

Escaped to Nepal

Died Fighting the British in Awadh

@lﬁﬂﬁlllﬁgﬁﬁlﬁaﬁﬁﬂqaﬁ%ﬁqﬂqaﬁwwmmwgﬁm

1
i. CERE

ii. T WRe

1., 91 @

iv. Hiar s

V. T Ff&“ﬂilﬁ

(A) i-d. ii-e, iii-a, 1v-¢, v-b

(C) i-b, ii-d, iii-e, iv-c, v-a

(E) Question not attempted / ARG W

20

o o6 g

Tl

iy § ol ¥ Wsd U 9EIE &
ARl & IR HU Yge WX W "X Y
e & TN 3 A Y
A A T

aay W S ¥ TSd gU S B TS

(B) i-a, ii-c, ili-d. iv-b. v-e
(D) i-c, ii-d, iii-b, iv-a, v-e

P.T.O.



64 Ram Singh :
i.  became the leader of the Kukas in 1860.
ii. appointed subas and naib-subas to organise the sect in different parts of Punjab.
iii.  recruited a large number of jats as member of his sect.
iv. imparted military training to his followers.
v. died in 1885 at Ludhiana.
Select the correct answer from the codes given below :

(A) 1,11 and 1v (BY 1, i1 and v
(C) 1, iii and iv (D) ii, iv and v
(E} Question not attempted

™ 8% -

i 1860 H i &1 T T

ii.  YeE % fafe= arn § duer af gfed e & e g ol Ane-ge e e
iii.  ¥E SEm ¥ Wl B o WueE % 9o % ®Y A S fhar

iv. o oAl W &=l i

v. 1885 % qiar # g TR

I fow 0 Blew 9 wE AT B T B
(A) i, ii afx iv (B) i,ii 8T v
(C) 1, iii 3fiT iv (DY iiyiv &t v

(E) =i a7

65 The extremist method of “passive. resistance” did not include
i.  Refusal to co-operate with the government.
ii.  Sending petitions to the government.
1. Boycott of government service, courts, schools and colleges.
iv. Refusal to pay.rents to the Zamindars.
Choose the answers from the codes given below :
(A) Only ii (B) ii and ii
(C) Only iv (D) ii and iv
(E)} Question not attempted
“fftra gy’ @ T wefa | o @ v
i, R % Y GEAr BT H BN B
ii. TR B ATHN TS
ili. HTH a1, S, Tl S Bist Bl GBI
iv. WHET B T 39§ 6 B

dr fau T BEE ¥ g ST @& 99 L
(A) %Head ii (B) ii ofiT ii
(C) &ad iv (D) ii &R iv

(E) oata ued

HS-9 21 P.T.O.
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Assertion : Gandhi’s technique of Satyagraha was based on the twin concepts of truth
(Satya) and non- violence (Ahimsa).

Reason : The literal meaning of Satyagraha is holding on to truth.

(A) ‘Assertion’ is correct, but ‘Reason’ is wrong.

(B} ‘Assertion” is wrong, but ‘Reason’ is correct.

(C) ‘Assertion” and *Reason’ are correct, and *Reason’ explains ‘Assertion’.

(D) Both "Assertion’ and ‘Reason’ are correct, but *Reason’ does not explain ‘Assertion.’
(E)} Question not attempted

B M B TAWE B qhlh T 3T AT B FFar sraaronsdi oy s 41
H . FAWR H w1 9 W e w3

(A) ‘HYT W B, AfRT BT AT B

(B) ‘@Y T ¥, WiAT BT E |

(C) ‘T T ‘®wr g ¥, ofiT ‘erer, ‘HmUe W e sl £

(D) ‘&®u i ‘bR’ TAf WA ¥, dfhd @R ‘hUS @ e el widr ol

(B} &gaRa wed

‘Mixed Economy’ was envisaged for the first time in the,:
{A) Preamble of the 1950 Constitution (B) First. Five Year Plan

(C) Second Five Year Plan (D) Bombay Plan

(E)} Question not attempted

T ordenaen &1 uitEweT T ggel 91t & T e
(A) 1950 &% dfaam & yaET (B).vaw yoadig gie
(C) 3@l daadiia die (D) s diemn

(B} &gaRa wed

The Roman emperor, who consolidated the rise of Provincial classes so as to exclude the
senators from military command, was :

{A) Augustus (B} Constantine

(C) Tiberius (D) Gallienus

(E)} Question not attempted

AT F9Te, THe T @t & I&d &I adihd [hal aie G2 & 4 ®AF ¥ a8 fhar o
T, o

(A) o™ (B) &
(C) fealtmm (D) iera
(B} &R wed
A form of writing developed by the people of Sumer, is :
(A) Civilization (B} City-state
(C} Cuneciform (D) Mesopotamia
(E} Question not attempted
guI & @ g0 fasiia e & us w9 2|
(A) w9 (B) s&{-U=1
(C) (D) AHmzifw
(E} oraiid ued

22 P.T.O.
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The city—state Sparta laid emphasis on :

{A) Athletic and Militaristic values {B} Democratic institutions
(C) Temple worship (D) Trade and commerce
(E} Question not attempted

- @ (Sparta) 3 68 9T 9@ Gy

(A) = 3R a7 (B) ity g
(C) #fex gmm (D) =T 3iiT g
(E) =i a7

Which series of events is in the right chronological order?
(A) Peloponnesian War, Greek Golden Age, Persian Wars
(B} Persian Wars, Greek Golden Age, Peloponnesian War
(C) Persian Wars, Peloponnesian War, Greek Golden Age
(D) Greek Golden Age, Peloponnesian War, Persian Wars
(E) Question not attempted

TFZATH B B A AT Fol B HE H H 57

(A) vRIRREE gE, W% @l gu, w99

(B) W g, W% @Yl g, TAdHEET 99

(C) wE gg, Waunied gg, Wi @i g

(D) % @ T, IR JE, WREl I8

(E) omgaia wsd

The Mongols were defeated by the Egyptian army because :
{A) the Mongol army was less equipped.

(B} Mongol rulers began to take more interest in China.
(C) Mongol were less developed.

(D) None of these

(E} Question not attempted

firg &t o | Hal B o e aite

(A) T F HH FAST 4|

(B) ¥ 9mEe O H aifue s W @ 9

(C) #e @&\ fasiad A

(D) TH & wiy T

(E) argaia a7

The Mongolian and Chinese narratives on Genghis Khan were translated as The Secret
History of the Mongols by :
{A) Boris Yakovlevich Vladimirtsov (B} Marco Polo

(C) Vasily Vladimirovich Bartold {D) Lgoe de Rachewittz
(E)} Question not attempted
=S @ I WIS 31T ST HATST B STarE Wi & < Saad & &9 R
ar 4rl
(A) [T TTeplewiterd T (B) Hep! 9wl
(C) =l i Srie (D) @g < Tfaed
(E) arg=ia weA
23 P.T.O.
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Fief is :

{A) Someone who steals (B} A musical instrument
(C) Anothcr name of knight (D) A picce of land

(E} Question not attempted

AT (fief) ®ME?

(A) ®E A 9 ®HLan B (B) =g amEs

(C) @A (knight) &1 38O T4 (D) 4fH &1 Z@ST

(B} &gaRa wed

Emphasis on Humanism (man’s concern with himself as an object of contemplation} was
the chief characteristics ot which period?

{A) The Restoration period (B} The Puritan Age

(C) The Renaissance Period (D) None of these

(E} Question not attempted

AEdR W WX ([T B g & ' H 9 & @Y 5 9y 90en) R em A g fadwa
47

(A) WEE eraty (B) afe g

(C) YA e (D) 379 A TE

(E) orafe usA

Who controls and regulates trade i a mercantilist economy?

(A) The individual citizens (B} Only tax payers

(C) The voters (D) The Government (Mother Country)

(E} Question not attempted
T srefera § e el s fEta ot fafafte s # 0

(A) =R AT (B) haw HLEn

(C) HAdaTr (D) T&R (4rg 290)

(E) or=f wsd

After World War I Japan was occupied by Allied power till :

feda faea 9@ & 98 SOW X R 29 (Allied) ®1 oiferd (power) &1 e q® ol
(A) 1952 (B)Y 1950

(C) 1951 (D) 1954

(E) Question not attempted / 3T 997

Japan gained influence in China by seizing the concessionary areas of which European
power during World war—[?

{A) Germany (B} Britain

(C) United States of America (D) Russia

(E} Question not attempted

AME A fasa-ge-1 & W e e i & Tomd 86 T wen a3 99§ e T
T 7

(A) T (B) firvm
(C) g T s (D) =4
(E) =i a7
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Who were the two founding members of the Chinese Communist party?
{A) Li Hazhao and Chen Buxiu {B} Li and Shou

(C) Mao Zedong and Zhou Enlai (D) Mao and Xi Ping

(E} Question not attempted

A HHGAE e % o HuEs 9 B 47

(A) W TS SN =9 SRRy (B) @ X %

(C) w3l wRim ofT HS T (D) wrst ik <t fif

(B} &gaRa wed

What is the meaning of Tiananmen?

(A) Desert (B) Beautiful River

(C) Glacier (D) Gate of Heavenly peace

(E} Question not attempted
fefeTIo a1 e o 7

(A) (B) gl T
(C)y iR (D) =R siifq &1 EN
(E) o gana wed

|
Hari is 2— times as good as a workman as, Kishan. Therefore, he can finish a given job

2
in 42 days less than Kishan ean. By working together, in how many days can Hari and
Kishan finish the job?
(A) 28 days (B) 24 days
(C) 20 days (D) 16 days
(E)} Question not attempted

B, fopeom & 2%3?131@35@1‘{%@141‘@:,a%%qnqa;r&aﬁﬁssm@fﬂﬁﬂmﬁ{nm
HHAT & | U WY HH H{b, &L T By ool Bt & & T BT Thd £ ¢

(A) 28 fm= (B) 24 f=
(Cy 20 fa= (D) 16 &=
(E) oaita ueq

If1+5+9+ 13+ ...+ x =496, find the value of X'

A 1 +5+9+ 13+ ... +x=496%, @ X' & 94 Td &iAU|
(A) 57 (B) 59

(C) 6l (D) 63

(E) Question not attempted / AN 987
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A man is draining out petrol from a large drum into a storage tank measuring
72 ¢cm x 40 cm x 50 ¢cm. The storage tank already has 18 L of petrol in it. When petrol
is filled up to 3/8t height of the storage tank, 5/9t part of the drum was still filled with
petrol. How much petrol was there in the drum in the beginning?

U SMEYl U S 9§ 72 Ul x 40 9T x 50 Y. 91T O WSWr ¥ W Ug TR T
Weror ¥ H wEel ¥ & 18 WY W B e WENOT 3% #Y 3/8 IS d% U WX 9T €, a9
Hf 9 &1 5/9 |FT UM ¥ 0T T AT &S A 36 H foRaAr uge an?

(A)y 75 L (B 78 L

(C) 81L (D) 84 L

(E) Question not attempted / aNa U89

Three years ago, a man's age was twice the square of his son's age. In seven years from
now, his age will be three times his son's age. Find their present ages.

(A) Man's age = 28 yrs, son's age = 4 yrs

{B) Man's age = 30 yrs, son's age = 5 yrs

(C) Man's age = 32 yrs, son's age = 6 yrs

{D) Man's age = 35 yrs, son'sage = 7 vrs

(E} Question not attempted

A9 ad TEd, U% SMEHl P IW IS 92 B W HoAT ¥ I M| o ¥ Ui ad qrg, 39T 5
SHE S B IF W AF AT 0 ST T g T B

(A) STEHT B 9 = 28 A, 9¢ B IW =4 "I

(B) ame® & 39 = 30 AW, g ® IH. = 5 HA

(C) omeH &l 39 = 32 9id, 92 &l 39 = 6 g

(D) amed & 39 = 35 W, g 3% = 7

(E) agaid ued

Ajay and Amit move from points A to B, 33 km apart, in a straight path at speeds of
5 kmph and 6 kmph. respectively. Amit reaches point B, turns back immediately and as
he is walking back to point A, meets Ajay at point C. Find the distance from A to C.

(A) 22 km (B} 25 km

(C) 28 km (D) 30 km

(E} Question not attempted

Forg o et wAer: 5 fob ufa € ot 6 fpdt wfa 9 @ oy & @19 v w33 e fag
A¥ B d® Tad ¥ g fig B W qguan ¥, LA a0 g3 & ofT Wa & @@ fig A @1 st
quE T &, f§g C 9T omm 4 fraar 81 A | C ot gt 919 #ifsg

(A) 22 fedy (B) 25 fmedy
(C) 28 foprir (D) 30 fmrir
(E) orgafea usd
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Qs. 86-87 : Each of these questions contains six statements followed by four sets of
combinations of three. Choose the set in which the statements are logically related.

W.%. 86-87 370 W Y% e W BE Hu9 AR D 9% A % WU & 9N Y2 NHA £ 98 He
g TTeH U qibd w9 q darad w|

Sham won a lottery.

Sham lost in a chess game.

Sham is not intelligent.

One need not be intelligent to win a lottery.

One need not be intelligent to win a chess game.
Sham plays chess.

86

o a0 T

M+ AL SR

A & W H 9T TT T

oM ghaa TE B

T S & oY el @ gRewe BN 9Ed AR F

TTLH BT T S & g fpell 1 ghamm g1 ol 78t 21
T ST Gl &

o oae TR

(A) bef (B).acd
(C) bde (D) bdf
(E) Question not attempted / ST W87

87 Some college athletes are professionals.
No college athlete is“a professional.
Some professionals are well paid.

All professionals are well paid.

All well paid pérsons are professionals.

No well paid person is a college athlete.

Mmoo Ao g

PO Hielel TIwI UgET T

®ig A ek UUwie Usie] e

FT QP BT 37 Ao frwan ¥

Ty Y9y W ST 99 e £

A1 3/ daq TN 9 =i 99raT ¥

Hig W W1 I I Gl R FIeSl UUAIE o B

me a6 o

(A) bef (B) abf
(C) bdf (D) act
(£} Question not attempted / FTANT U
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Qs. 88-90 : Each of these has a question followed by two statements I and II. Mark the

. %.

88

89

Pl

HS-9

answer as:
88-90 :3A% I ym W UH W 3 TUSH &% 31 wuA [ 3T 11 ¥ 39X & 39 wer fafea i
(A) if the question can be answered with the help of statement T alone,

(B) if the question can be answered with the help of statement II alone,

(C) if both the statements | and II are needed to answer the question, and

(D) if the question cannot be answered even with the help of both the statements.
(E) Question not attempted

(A) TfE W9 &7 AL heaw ®uA | B GEEd 9 fan o g &,

(B) T} Wy &7 STX Haw wuA 1l B gEwwen ¥ A s 9w %,

(C) Tz wy &1 ST TN & U S0 weae [ ofe 11 stmasTe §, 8fiX

(D) afE w7 &1 STC QT Bl B GEEar ¥ o e far 9 "@eaar ¥

(E) =i a7

Mr. X takes the morning train to his office from Station A to go to Station B, and his

colleague Mr. Y joins him on the way. There are three stations C. D and E on the way

not necessarily in that sequence. What is the sequence of these stations during the journey?

[.  Mr Y boards the train at D.

II.  Mr. Z, who travels between C and D, has two segments of journey in common with
Mr. X, but no segment of journey common with"Mr. Y.

AAE X ®9W B 99 % 0 €99 A 9 T A % [0Q a8 B o ThSd 8, A% T H

I TEAM Y A I I B W BN UW H a4 299 C, D ot E ¥, wEl T8 6 3@ e

W Bl U % SR § WYEl B HH T el

[ 9w Y, D w ¢ o =6d 2|

II. gme Z, 5 C 3t D & -4 &3 &, 9 960 & & @S 999 X &6 91y gae ¥,
AT M Y F Wy A s wE W @S gue e ¥

How many people (from the group surveyed) read both newspapers ‘Indian Express' and

"Times of India'?

I.  Out of the total 200 readers surveyed, 100 read Indian Express, 120 read Times ot
India and 50 read The Hindu.

II. Out of the total of 200 readers surveved, 100 read Indian Express, 120 read Times
of India and 50 read neither.

(gdfea g & @) feae @ Sfsay waue ofit 2/ ot 3fedr SFf 99 O 9ed & ¢

I wdaw # onfire et 200 wigsl # & 100 0w waads ved &, 120 259 ok $iean ot
50 = f&g wea 2

1. |deror & qidd FA 200 wrewt & § 100 o= waem Jed 2, 120 TEA o6 3 wd
g 8lX 50 &g @ 7Ef wed )

What are the ages of the three brothers?

[. The product of their ages is 21.

II. The sum of their ages is not divisible by 3.
Tl HFA W S FT§ 7

I S9! omg & oA 21 2|

II. I g & am 3§ R 78 %)
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Kanaud is the old name of which of the following city in Haryana?
{A) Karnal (B} Kaithal

(C) Narnaul (D) Mahendergarh

(E)} Question not attempted

e s & Freafafaa § 9 fee o=t @ U qm R 7

(A) HTR (B) &uw
(C) - (D) #wEgsme
(E) or=fE e

According to Skanda Purana, how many fire pits (Agni - Kunds) were created by Brahma

for performance of yagna at Kapal-Mochan (Bilaspur)?

giﬁ' QAW e ATFER, BU—HreH (Eye) & 79 & &% o0 9@ 510 feaq siftFgs a9 g
I

(A) 1 (B) 2

(C) 3 (D) 4

(E) Question not attempted / AR 79T

Consider the following statements about Adi Badri.

I. It is situated to the north of Bilaspur on the foothills of the Shivaliks.

II. The Saraswati river is believed to have originated from this place.

III.  Sculpture of Shiva-Parvati and Ganesha belonging to 9t and 10! century have been
discovered from this place.

Which of the above statements is / are correet?

{(A) I and II only (B} II and III only

(C)y T and III only (D) I, II and III

(E) Question not attempted

i &t & A A frAfafad a9t ar $¢)

[ o7 faqm@gq & ST o fEias & qoed 91 R 3

Il = S & R wEai el &S g8 W g ol

N 38 & & 990 sie 1031 saral &1 fya—drddr ofie oist &t qfaat el 21

U HUA T H BE /A B qE 2R Y

(A) waa I e Il (B) e II afrT 111

(C) e 1 3fX 110 (D) I, II it 111 (E) araia 97
Consider the following words used in ancient scriptures.

I.  Dharmashetra IT. Nardak

III. Brahmavarta IV. Brahmakshetra

Which of the above words have been used for Kurukshetra?

(A) I 1II and III only (B} L III and IV only

(C) II IIT and IV only (D) I, 10, TIT and TV

(E} ~Question not attempted
A e ¥ yge Frefafaa gl w R w5

I e II. -Re®

Il s&med IV, sEres

ST W fRE s @ yE HEas % fog e e

(A waa I, 11 i I (B) waw I, 111 &) IV

(C) %Faw IL, III &k IV (D) 1. 1L III afit IV (E) arafed wed
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Consider the following statements about Chor Gumbad at Narnaul.
[. It is called signboard of Narnaul.

II. It was built by Fateh Khan an Afgan as his tomb.

III. It is also known as Bhul-Bhullainay.

Which of the above statements is / are correct?

(A) T and IT only (B} II and IIT only
(C) I and IIT only (D) 1, T and IIT
(E)} Question not attempted

A § A9 e & g " Frefated w0 1 e s

[ 39 ATCIW &0 gaaT-9g &el A & |

II. S8 %A B @ A 3199 6 & ©9 F e ail

M. 38 YA d & 8 & A T S 3

U Bl B W @i W/ wuA Wel fE
(A) e 1 3iR 11 (B) haw II afiT 111
(C) waa I o 111 (D) I, II & 111

(E) o gana wed

Qs 96-100 : Answer the questions based on the contents of the passage given below:

HS-9

Five vears ago. The Economist declared that data and not oil. is the world's most valuable
resource. A slew of analyses. interpretations and( projections followed. This month, the
former deputy prime minister of the United Kingdom, made headlines with his statement
that data isn't finite and limited like oil, rather, it is like air, which can't be contained.
Many industrialists now hail data as the raw.material. Data forms the bedrock on which
today's knowledge pyramid rises towards awareness, understanding and finally, wisdom,
which is essential for nuanced and eftective policymaking. The World Development
Report 2021 asserts that there is a need for forging a new social contract for data which
accelerates data use and reuse to realise greater value, creates equitable access to benefits,
integrates national data systems, and finally fosters trust such that people are protected
from the harms of data misuse. We must construct new rules for this data age, and the
road ahead signals some eritical but surmountable challenges. For instance, less than 20%
of low - and middle-income countries have modern data infrastructures such as colocation
data centres and direct.access to cloud computing facilities. In India, public data remains
inaccessible because many government officers don't want to put data out in the public
domain. Data is also siloed across sectors. As we enter India's "techade”, data must be
accessible to all citizens. We must adopt a multisectoral approach to collecting, integrating,
and interpreting data. This will strengthen service delivery by governments at all levels.
Data should be presented in a simplified and decluttered manner to maximise the benefits.
When it comes to data governance, India offers a range of best practices which can be
emulated and advanced by other nations. The Data Governance Quality Index (DGQI)
enables government agencies to undertake a detailed self-assessment of their data-
preparedness levels. It helps ministries advance towards an optimal data-driven outcome
tracking, and data governance architecture. Even as terabytes of data flow through the
government's data pipeline involving collection, cleaning, processing. analysis, modelling
and visualisation, the pipeline is constrained with structural plaque. This plaque comes
from databases being inaccessible and siloed, and data platforms being cluttered with
complexity without any flexibility to innovate.
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Which of the following statements are not borne out by the contents of the passage?

i.  Nowadays it costs more money for governments to acquire certain kinds of data
from other countries as compared to the cost of oil.

ii. Clearly data is a costlier resource to produce than is oil.

iii.  Wisdom for governments is in acquiring data purely as a raw material at lower costs
and convert the same into proper information to be utilised equitably for public

good.
{(A) 1and il (B) 1 and iii
(C) ii and iii (D) 1. i1 and iii

(E) Question not attempted

In the context of the passage which of the following statements could be taken as the

most accurate assessment of the author's opinion about data?

{A) It forms the base of the pyramid on top of which could be placed the knowledge
or wisdom that is an asset to policymakers.

(B} The value of data depends on how well it is shared between countries for wider
social good.

(C) Data offers best value when it is developed separately tor different sectors as per
their individual needs.

(D) Data creation and management must be done equitably across all the countries.

(E} Question not attempted

As per the passage. handling of data by.the government encompasses all the following

aspects except:

i. Ensurmg its repeated use by @ wide cross-section of stakeholders to extract the
maximum benefit out of t.

ii.  Using it as a tool to negotiate better oil deals with the supplier countries.

iii. Laying down norms.complying with DGQI Standards for the different stakeholders
to utilise the data provided by it in a controlled way, as only that would prevent data
plaque formation.

(A) 1and ii (B} 1 and iii

(C) 1 and iii (D) 1. i and iii

(E) Question not attempted

Which of the tollowing options is synonymous with the word "plaque” in the context of
the passage?

{A) Failure (B} Corrupting

(C) Rusting (D) Clogging

(E} ~ Question not attempted

Which of the following options is closest in meaning to the word "siloed" as it is used
in the passage?

{A) Lost (B) Protected

{(C) Banned for use (D) Complicated

(E)} Question not attempted
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